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PART -1

Physics ifaer vrer
1. Two rods A and B of same dimension 1. O o AR T 1 e et o &
but different materials are welded IS A I B I REmER Siret T4 R1 ST

together as shown in fig. Their thermal

conductivities are K and 2K. The ST SATCTRT SR K o 2K &1 6T B

thermal conductivity of the composite ERIEIRETINHIE
rod will be: A B
A B
A 2
A 2 K B. V2K
K B. V2K 3
3 C. 4
C 4 3K D. =K
3K D. =K 3
3
2. Arod of length L and mass M is bent 2. SIS L YT SS9 M Y Uk TS i
ir;]to form qu a s<;m_|i_r$ircular ring f(gs _ srefaiia &7 § Hrer ST @ (R
shown in figure). The moment of inertia . ;
about XY axis is- XY 3 % 9fd: e It &-
X X
, |
| |
1 1
| |
] |
\% Y
A ML2 A ML
22 21?
B. mL? B ML
2 n’
C. ML2 C. M2
4An? 4n?
D. o\mL2 D. 2mL?
n n’
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3.

The average Life T and the decay
constant A of a radioactive nucleus

are related by the expression-
A Ta=1

B. T 0.693
A

A bar magnet of length %' and magnetic
dipole moment 'M' is bent in the form of
an arc as shown in fig. The new
magnetic dipole moment will be-

60 . r

feauferea ATver 1 WTe AR T a1 &1
forrdien ), frey sstes g deifRra g 2-

A Tr=1

B. T 0.693
A

LT 9 M FFeTehid foger ATl ared
raTeh o FerITR =T 3 & F HieT 797 &)
g feufa & am reshie faya smmepf gvm-
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B-H curve of two different materials

P and Q are shown in fig. These
materials are used to make magnets for
electric generator, transformer and
electro magnetic core. Then it is proper
to use-

kB ;B

® '@7H
/4 a

A. P for electric generators and
transformer

B. P for electromagnets and Q for
electric generators

C. P for transformers and Q for electric
generators or electromagnets

D. Q for electromagnets and
transformers

For the angle of minimum deviation of a
prism to be equal to its refracting angle,
the prism must be made of a material
whose refractive index-

A. lies between 2 and 1

B. lies between 2 and /2
C. islessthan1

D. is greater than 2

5.

& - veret P9 Q % B-H I far |
ERI 31 HoRT STANT Forefd ST, Ziawr
a1 fora Frarehia SR = raleh s H
BIT 21 STH | T I -

b B b B

® @

T
2V T

A. P fogd S 9 giawm 8

B. P forega Tk & Q forgra STt B

C. PZia®mta Q foea gwereh 3toran
ERGEIEERS]

D. Q o=l IFIe o ZMEHE o

TSIS¥ o S{aeh HI0T =LA forerer i
STTeR &1 1 o ok warel AT ST BT
-

A 2 a1xd=

B. 292 4
C. 1&=H

D. 29 Irer
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Three masses of 2kg, 4kg and 4kg are
placed at the three points (1,0,0), (1,1,0)
and (0,1,0) respectively. The position
vector of it's centre of mass is-

A 3: 4.

S) SJ

B. 3i+]
C.

i+—]

©

—
+
(Sl

gl gN
gl o>

The wavelength of X-rays is the order
of-

A. Centimetre
B. Micron (lO_Gm)
Angstrom (10_10m)

D. Meter

Photo electric cell is a device which
converts-

A. Light energy into electrical energy

B. Chemical energy into electrical
energy

C. Electrical energy into light energy

D. Magnetic energy into electrical
energy

7.

2R, 4 fFam efiv4 fram e
FSH HAT: (1,0,0), (1,1,0) 317 (0,1,0)
T feord 81 9ok SoaHM ohes, ot Rarfa afewr
2

A

Ul w
—_
+

ol s~
[S— )

B. 3i+]j

——
+
(=1

gl ol
—
+
agals o|s~
[S—— ]

X-feror = it e form whife o et &-
A. o

B. gz (1070 )

C. dmegm (10720 =)
D. HieX

LT &

A. ST 3T i T et |
B. T Sl ! forgd Sef 4
C. forgd 3Tt shl YehreT Sefi A

D. TR IS i fored it o
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10.  The angular speed of a flywheel making 10. 120 et wfer fie & =Hd i dTerh =56

120 revolution/minute is- T I =TT BIY-
A. 2mrad/s A 2 rad/s
B. 4n2rad/s B. 4n2rad/s
C. mrad/s C. nrad/s
D. 4nrad/s D. 4n rad/s

11.  The capacity of a parallel plate capacitor 11, g e derfer it et et st 8-

depends on-
A. Nature of the plates A, T ST T
B. Distance between the plates B. @ﬁﬁ%aﬁasﬁaﬁm
C. Thickness of the plates C. W HIARE )
D. Potential difference between the .
plates D. Iei % s favam ®
12. A point mass m is placed inside a 12, ueh forg 5o m 1 BisaT R 921 M
spherical shell of radius R and mass M =TT o Tl ShIST 5 3L T ST 2l
at a distance R/2 from the centre of the
shell. The gravitational force exerted by PRI F5 4 R/2 aﬁlﬂﬁlr_g; 2 w
the shell on the point mass is- 1T ER SR o 2-
A. GMm A. GMm
R? R?
B. GMm B. GMm
R? R?
Zero C. 313
i D. ,GMm
R R2

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202052-VKZ-ENT-JZK-M 7 Set-A



13.

14.

15.

A ray of light travelling in a direction
%(|+\/§J) in incident on a plane
mirror. After reflection, it travels along
the direction %(I—x/é]) The angle of
incidence is-

A. 30°

B. 45°

C. 60°

D. 120°

The energy related per fission of a
92 U2 nucleus is nearly-

A. 200eV
B. 20eV
C. 200 MeV
D. 2000 eV

If the number of holes and electrons are
n,, and n, respectively, then the correct

relation for pure semiconductor-

A. NL >Ng
B. np<ng

13.

14.

@wﬁwg(hﬁ]) fean ¥ T
U Tk A UOT UX ST Bl 21 e
éaqm%(i—ﬁ])ﬁm%aﬂaqnﬁr
ST 2| ST 2RIV T T 2-

A 30°

B. 45°

C. 60°

D. 120°

o U2 1fireh % weft fermoe & wstt
SIS Il & (THTH)-

A. 200 eV
B. 20eV

C. 200 MeV
D. 2000 eV

A Ny, TAT N BT TAT STFLH h1 TEAT ©
a1 3168 STd=Tereh o foTg Wl Heie -

A. Np >ne

B. np<ng
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16. The distance travelled by a particle
starting from rest and moving with an

acceleration > in the third
second is-

A i

19
B. Am
C. 6m
D. 4m

17. A spring of force constant 800 N/m has
an extension of 5 cm. The work done in
extending it from 5 cm to 15 cm is-

A. 161
B. 8J
C. 32J

D. 247

18. The dimensional formula for
Boltzmann's constant is-

A. _MLZT_2®_1:|
B. _MLZT‘ZJ

C. _MLOT—2®—lj|

D . i M L—2T—1®—li|

16.  for & Tfer W SR g 9T BT oo
%m/s2 &, 0T g R Hhus o o gt

-
A 19/m

O

o

6m

4m

17. 800 N/m S/dA-adieh arelt Ush f&in o 56r
5cm 2l 3@5 em ¥ 15 cm doh JETHT
T foparm T T 2

A

B
C.
D

16J

. 81

321

. 24

18.  SicesT fardieh s fa e &7 -

A

_MLZT‘2®‘1J
_MLZT_Z}

_MLOT_zG)_l}

_ML_ZT_1®_1}
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19.  The magnetic flux linked with a loop is

o=

6t2 +7t+1, where ¢ is in milli

weber and t is in second. What will be
the e.m.f. induced at t = 2 sec?

A

B
C.
D

49 mV

. =39 mV

-31 mV

. —19mV

20. A body of mass 1000 kg is moving
horizontally with a velocity 50 m/s. A
mass of 250kg is added. Find the final
velocity.

A

B
C.
D

40 m/s

. 20m/s

30\/5 m/s

. 50 m/s

21. The mass M oscillates in simple
harmonic motion with amplitude A as

shown in fig. The amplitude of point P

K 2K M
A A
2
B. 2A
C. A
3
D. 2A
3

20.

21.

U 9 § HFeIEg Jrehid FoTae

¢=6t% +7t+1, STt ¢ fireh s qon
T ¢ YohUS § ® T t=2 FehUg I U1 far ..
T BT

A. 49mV
B. -39mV
C. 3lmV
D. -19mV

1000 5.2, g 1 fuve, &fes fesma
50 m/s 3 ST ¥ 7T R T&T 2] IS 250

for. 7. w1 goaw 39 fuve W@ fear srar 2
ar rfeaw 3 31 HifsE

A. 40 m/s
. 20m/s

B
C. 302 mi/s
D. 50 m/s

[eETHR T S| M STRITH A o |19

T FATefl 1Tl T T 2] fefg P b AT &
P
K 2k M
AA
2
B. 2A
C A
3
D. 2A
3
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22.

23.

24,

25.

Same force acts on two bodies of
different masses 3kg and 5kg initially at
rest. The ratio of times required to
acquire same final velocity is-

A 5:3
B. 25:9
C. 9:25
D. 3:5

The quantity which remains unchanged
in a transformer is-

A. Voltage

B. Current

C. Frequency
D. None of these

Electron-volt is the unit of-
A. Charge

B. Potential

C. Momentum

D. Energy

A particle starts from rest. Its
acceleration (a) versus time (t) graph is
shown in the figure. The maximum
speed of the particle will be:

a

A
10m/szc
» t(s)
11
A. 110 m/s B. 55 m/s
C. 550 m/s D. 660 m/s

22.

23.

24.

25.

3 foh.am. 37t 5 Tk o, o <t T formmarcen
T 2 e 37 IR FH o IR S A $
S GHTT AT STH T H < Gl bt ST
-

5:3

25:9

9:25

3:5

B A T © e srufEfda wdt @ 2
A. fava

B. 9w/

C. gt

D. 78 s T

TAFH-AIee T B-

A. STEIH

B. faw@ar

C. G

D. i &l

o w>»

Teh ST T § i TR ST ©, SHehT T8
0T T ot T Tefia 21 ot ST STfRrshad
W@Tﬁ:

a
A

10m/szi

» {(s)

11

B. 55 m/s
D. 660 m/s

A. 110 m/s
C. 550 m/s
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26. The number of electrons in 1 coulomb

26. | SpeTrS ST H SAZHI hl HEAT BT 8-

charge are- A :
A. 546x10%° o o
B. 1.6X10_19 © 1.6x10

C 18
D. 95x10716 D. 9.5x10716

27. A train moving at a speed of 220 m/s 27 wah ¢ 220 HI/H. 3 =7 § T e a&q Al

towards a stationary object, emits a ST TR T BT 1000 TS ST il &afy
sound of freque_ncy 1000I—_|z. Some of Serer et 2| A T W g
the sound reaching the object gets S >
reflected back to the train as echo. The R idl B1ehHT 35h1 o & H ¢ oh Tg=ral &
frequency of the echo as detected by a S H SIS Sre1eh I ST T ST Ul =ert

person in the train is (velocity of sound

in air = 330 m/s):

(AT | €At 1 AT = 330 HA):

A. 3500 Hz A. 3500%
B. 4000 Hz B. 4000 &S
C. 5000 Hz C. 5000 &S
D. 3000 Hz D. 30003@3{
28. A thermodynamic system undergoes 28.  we IT(reh 4Rt =rshia TshH ABCDA &

cyclic process ABCDA as shown in fig.
The work done by the system in the

cycle is-
P A

=P AP ¢
2P 4.
Pol.....
A
VO

A.
B. 2PV,
C. RV,

2

D. Zero

freprar g forar i el -
P A
B N ¢ B
E
71 W
5 P l.... o b
2V, g Vo 2V,
A I:)OVO
B. 2P,V,
C. PV,
2
D. I

&R o & (FereEm) | 3 =she R 5
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29.

30.

The lower end of a capillary tube of
radius 'r" is placed vertically in a water

of density p and surface tension S. The

rise of water in the capillary tube is upto
height h, then heat evolved is-

A. 2,22
MU h“pg
J
B. nrzthg
2J
C. _n2r2h2pg
2]
D. _nrzthg
J

The current gain of transistor in CE
mode is 49. What will be the current

gain of the same transistor in CB mode?
A. 49
B. 0.98
C. 49
D. 98

29.

30.

'r' e i ueh et et % et el
p TC I S I TG o T H JeaTek WM
ST 81 U1} 9T et & h 4TS qo =@ AT
&1l ST 3°AT 2-

PY
J

A 122p2
_l’_—

B. nr2h2pg

2]
C. B thrzthg
2]
D. B m.Zthg
J

IUITE Icasieh (CE) forem o foreft Ziforeet
T ST AT 49 © T I} ZiTSTEet 1 v s
JTIR (CB) foream & e et gimr-

49

0.98
4.9

o o w >

98
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31.

32.

In the given circuit, currents |; and I
are respectively-

70 50
AW MW

y Iy 4 = Iy y

C. 10,12
7 5

A

D. 10, 12
7 7

A

The root mean square velocity of
hydrogen molecules at 300k is 1930
m/s. The rms velocity of oxygen

molecules at 1200k will be-
A. 765 m/s

B. 1065 m/s

C. 965 m/s

D. 865 m/s

3. faw e gftaer & gRTC 1 AT 1, SHH: B-

V|1 AV |2 }

i
2

32. 300k T ETEEISI U] hl ol Wreal He 97
1930 HUHFE Bl 1200k T TR 377
Y ot TTe Tt o E-

A. 765 Heya,
B. 1065 HievA.
C. 965 HleLA.

D. 865 Hieyd,

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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33. A thin convex lens made from crown

34.

glass [M = gj has focal length f. When

it is measured in two different liquids
having refractive indices gandg, it has

the focal lengths f; and f, respectively.

The correct relation between the focal
lengths is-

A. f,>f, f; becomes negative
B. f; and f, both become negative
C. f;>f and f, become negative

D. f1=f2 <f

The escape velocity of a body from the

surface of the earth is ;. The escape

velocity of the same body from a height

equal to 7R from earth’s surface will be:

A Ve
2
B. Ve
2
C. v
22
D. Ve
4

33.

34.

T Udc! 3Tt A, ST Sh1S TTE (u:gJ

T ST €, hi hiehE gl & % a%
I aTel 59 H A9 ST 9T 6eh!
ThIFE G0 A fy T f, T Bt 8 A
wIeE g H Wl A g-

A. fy>f, f; 1 HOTCHS & TR
B. f, & f, QI oM &l ST

C. fy>f T f, T WH RO &

SR

D. f1:f2 <f

qefl hl EdE § T TUUE T et 9
21 gt TaE | 7R 39T W 34 five
qARI T BT

A

Ve
2
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35.

36.

37.

The speed of light (c), gravitation
constant (G), and Plank’s constant (h)
are taken as the fundamental units in a
system. The dimension of time in this
new system should be:

=
o [ W4
C [k
e

At two points P and Q on screen in
young's double slit experiment, wave
fromslits S; and S, have a path

difference of O and A/ 4 respectively.
The ratio of intensities at P and Q will
be:

A. 32
B. 21

D. 41

3 moles of oxygen are mixed with 2
moles of helium. What will be the ratio

of specific heats at constant pressure and

constant volume for the mixture?
A. 6.7

B. 15
C. 4
D. None of above

35.

36.

37.

AT THTIT <HT ST (c), HTE ek T TRNoT
[ardie (G), T wtieh Hardieh (h) i qa
HT=Teh! 31 T8 Sk [T STl ot 34 1t
wﬁﬁmaﬁﬁmaﬁ:

A {G% h/2 C_%}
B. A=]:>
© [antsc]
J _G%h%c%}

A foeh feete it 3 ud o feerer o fermgt
PIQWME S 4 S, & T T FoIT=I
SO O F A/ 4 & PF Q W cferarati &t
W‘aﬁ’ﬂ:

3:2

2:1

- 201

4:1

OO0 W »

3 HieT SRS T 2 HIe BIfeTad o |rer
Tyt iaT 81 39 o & fog fer ge
eI ST OX ffRTe ST ot SFuTa =
q?

A. 6.7
B. 1.5
C. 4

D. 39Uk H s el
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38.

39.

40.

Three conducting rods of same material
and cross-section are shown in fig.
Temperature of A, D and C are
maintained at 20°C, 90°C and 0°C
respectively. The ratio of the lengths of
BC and BD, if there is no flow in AB is-

B
A ( D C

@)
l—!_’ N[O O]

D. u

The force on a charge q placed in a
uniform electric field E will be-

A K

B. gE
C. E

Wattless current means-
A. Current is zero

B. The average power consumed in a
cycle is zero

C. e.m.f. is zero

D. The phase difference between
current and potential difference is
zero

38.

39.

40.

T SHT &eT o S8 Uare 3 i S8
! FREATIER SIS TaT 21 A, D9 C
AT 3HHET: 20°C, 90°C & 0°C T SHY

T T 2 Afd AB W H i3 JaTE 7 81 &l
&1 1 TFTE BC 9 BD T 19T &1TI-

V2

>
I

C.

il

ek ST forgld &5 E H W q SATRT 9T

[T ©No

. fgmaEs s ?
. T SR forvarT=at 3 sfier et 3
2

A
B. U <3k § o 3tEq Wit I ®
C
D
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41.

42.

43.

The hydrogen atom is in d-state. For this 41

state values of m are-

A 2,10

B. -1,0,1

C. 2,-1,0,1,2
D. -1,-2,-3,-4

A uniform cylindrical rod of length 'L’,
cross-sectional area ‘A" and young
modulus Y is acted upon by the forces
as shown in above fig. The elongation of
the rod is-

L
«——-—
3

— 2F

3F «—|

A. 2FL
5AY
B. '
o
C. 3FL
8AY
D. 8FL
3AY

If the self inductance of two coils are
L, and L,, respectively. The maximum

possible mutual inductance is-

A L,
B L
Lo
c G
Lo
D. J/uL,

42.

43.

. TTESISH TTHTY] d-3Ta%T H 21 Al 36 fe1g
m%ﬂ'ﬁ%ﬁﬁ-
A 21,0

B. -1,0,1

C. -2,-1,0,1,2

D. -1,-2,-3,-4

T GH SITHTRR B shi aTwalTs 'L, 3TTIE
ST T &R 'A' T AT FeITeIdT TTeh
Y 2, T femTgen sre STifta fore I 2
€ H T T Y -

3F «—] - 2F
A. 2FL
5AY
B. 3FL
5AY
C. 3FL
BAY
D. 8FL
3AY

afe a1 Hreforal o T HATT: Ly qe
L, ®, Y Tfrehad Trve 3170 Sehed
2i-

A Ll

D.

202052-VKZ-ENT-JZK-M
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44. A particle of mass m is executing

45.

oscillations about the origin on the x-
axis. Its potential energy is

U(x)=k|x 3 where k is a positive

constant. If the amplitude of oscillation
is a, then the time period T is -----

A Proportional to 1

A

B. Independent of a

C. Proportional to v/a

D. 3
Proportional to aé

A heavy uniform chain lies on a
horizontal table-top. If the coefficient of
friction between the chain and table
surface is 0.25, then the maximum
fraction of length of the chain, that can
hang over one edge of the table is-

A. 20%
B. 25%
C. 35%

D. 15%

44,

45.

m SEFH 2T 0T x-31eT 0 HA feieg oh ufa:
e ST TET & 3aeh! fearfert 3t

U(x)=k|x[® & et k oo feraies 21 afe
Il ohT ST a BT I G SATedehel T @

A 1
—— o gHHUTT
N

B. a9 &dy

C. Ja % gurdt

a% o GETTT

Teh T ek G STST &ifast def o SUX @t
5% 21 A SISt o A7 Y wefg o offer =ror
Ui 0.25 2, AT SIS shl SIS o1 a8
SAfereRam ST ST AT o Uah el &
SALHIAT ST HehelT ©, BITI-

A. 20%

B. 25%

C. 35%

D. 15%

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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46.

47.

A mass m is performing linear simple
harmonic motion, then which of the
following graph represents correctly the
variation of acceleration 'a’
corresponding to linear velocity ' v'?

A.
v2 1

A

—»a
B. 2,

J_aZ
C. 2,

L;aZ
D. o,

If mass of a body is M on the surface of
the earth, then the mass of the same
body on the surface of the moon is-

A. M/6
B. Zero

C. M

D. None of the above

46.

47.

Teh SoqH m L& GTeT ST e o T&T 2l
g s aT s WIS v & 8@d

T o' | B ATl IR ohl et & |
Tef3id T &7
A 2,
—>a2
B. 2,
a2
C. V24

D. vZa
La?
afe forelt foue i1 Seamm gealt 3t Jag ™

M & T SI5HT 3T g 9L SHRT SHTH hT-
A. M/6

B. ¥
C. M

D. T ¥ &S T

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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48. A magnet is cut in three equal parts by
cutting it perpendicular to its length.
The time period of original magnet is

'To" ina uniform magnetic field B.

Then, the time period of each part in the

same magnetic field is-

49. For a satellite if the time of revolution is
T, then its kinetic energy is proportional

to-

A. H

> 1

C. 1
)

D. -I-—2/3

50. If g is acceleration due to gravity on the

surface of the earth, its value at the

height equal to double the radius of the

earth is-
A g

B. g/2
C. 0/3
D. 0/9

48.

49.

50.

ek el hl JHehT TAFITS o STalerd i
SR 9T H Sh1eT ST & §e JFeh &l T
FHT rehid &5 B H @ X 3Hehl
HFdHA Ty AT ol I Frehid &
o B ek T kT SRt GHTI-

A. @
B. T

At forelt Swre ot i &re T 8 At 39eh!
st it FTTRad o & foreres waTgaTe
27

A

—Al=

1
12
1

T3
D. -I-—2/3

afs et il Ha8 W e @1 g 7, T
HeRT T geaft shi forsa st gt S W
S

g

0/2

9/3

9/9

o w>
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PART - 11

Chemistry ASURERIC
S1. Correct order of electronegativity is: 51.  forggerRuTTCH R T HEl 369
F>O0>Cl=N A. F>0>CI=N
B. F>CI>O>N B. F>CI>O>N
C. CI>F>0O<N C. CI>F>0O<N
D. None of the above D. I 18 T
52.  Autoreduction process is used for the 52. w1 @ ford gTqatl o1 FHeshuior TsTo=ae
extraction of:- (ATifeearer) sk & 2rar &:
A. Cuand Hg A. Cu 3T Hg
B. Znand Hg B. Zn 3 Hg
C. Cuand Al C. Cu3Al
D. FeandPb D. Fe 3 Pb
53. A de-polarizer used in dry cell is: 53. g7k Gt | fayareh o &9 H YH &I 8
A. Manganese dioxide A. TS eRATEe
B. Potassium hydroxide B. Tif¥em grEgEEEe
C. Ammonium Chloride C. MIfRM Fis
D. Zinc chloride D. s Fase
54. lehich of’)following is an anionic 54. {9 O O 19T T TeTTeish 87
etergent
A. Sg(;)dium stearate A wile e
B. Sodium lauryl sulphate B. e ST Hehe
C. Cetyltrimethyl ammonium bromide C. foere grsfiemeet SHifm siHEs
D. Glycerol oleate D. fioeiier snfeiue

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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55.  Which statement is correct for 55. SRMATEINH UeeT SATHITEE o foTl bt &1

dinitrogen pentoxide? FUE TS &2
A. In the gas phase it decomposes into A Wmﬁag NO,, NO 3 O,
T SIEed & ST 8

NO,,NOand O,
B. 3@ N,Og3Tmafeh g1 &
C. forcra ud el srarwen & gewas g
C. Covalent in solution and gas phase g

D. TfiF e et 3 e @

B. Solid N,Os is ionic

D. Coloured deliquescent solid

56.  Which compound would give 5-keto, 56. anET ATk STSTIHTRTT i W 5-keto,

2-methyl hexanal upon ozonolysis? 2-methy SFE 317
A CHs A. CHs

o Ny
B P CH; B. _ CH,
C CHj C. CH

HaC~ HaC /Q
D CHj D CH,

CHs CH,

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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57. Anhydrone is: S7.

A. KCIO,4

B. NaClO,4

C. Mg(CIO4 )2

D. HCIO4 +H,S0,4

58. In case of following Bronsted base, the S8.

correct order of basic strength is:

A. Clo; > ClO3 > ClO; >CIO™
B. clo™ >clo; > Clos > clog
C. cloz >clo; >Clog >Clo™

D. cio; >clo; > clo™ > clog

59. When 10 ml of 10 M solution of 9.
H,SO, and 100 ml of 1 M solution of
NaOH are mixed, the resulting solution
will be?
A. Acidic
B. Neutral
C. Alkaline
D. Can not be predicted

60. HIO3 On heating at 170°C give: 60.

A 1,
B. 1,05
C. 1,04

TTRISSH &:

A

B
C.
D

KCIO4

NaClOy4
Mg(CIO, )2
HCIO, + H,SO,4

frifend sTee e | &I YeietdT T |=l
%rr%

A

B.

C.

D.

Clo; > ClO3 > ClO; > CIO™
ClO™ > CIO; > ClO3 > CIOg

Clo3 > CIO; > ClOz > CIO™

EF 1

St 10 foret. &, 10 7ok HpSO, =t
farera 100 T &, 1 7k NaOH o fae==
% firerra 2, ae aftor faeree g

IFATT

e

R

. T T ST HehelT

HIO3 =T 170°C 9 7TH & & 9 81T 2

A.
B.
C.
D.

2

1205
1,0,
HIO,

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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61.  Among the following compounds that is 61. 7 ik H & SAUeehid TE T ST &:

both paramagnetic and coloured:

A. K,Cr,0
A K2C|’207 2=2=t
B. i
B. (NH4)2[TIC|6] (NH4)2[T|C|6]
C. VoSO, C. VOSO,
D. Kg[cu(eN), | D- K[ cu(cN), |
62. An element ‘A’ has face centred cubic 62. Tk dcd ‘A’ T BTEAT BeAh hi-gd THThR &
structure with edge length of 361 pm. fSTerehY = <l {11 o eITE 361 pm 2
The radius of atom ‘A’ is: QTHTU\I‘A’E!?[%F&T%:
A. 127.6 pm
A. 127.6 pm
B. 180.5 pm
B. 180.5 pm
C. 160.5 pm
. 160.
D. 64 pm C. 160.5pm
D. 64 pm
63. Among the following which are 63. o % wem s gferd e &
mismatched: 3T T
molecule  hybridization ° .
(@) ClO; sp° () Clo; SP
2
(b) NHj sp> (b) NH; P
342
© SR sp3d? (c) SFe sp°d
3
@ S, s’ (@ Sy e
(e) XeF sp (€) XeRy P
A. (a)and () A @TE()
B. (b)and (e) B. (b)T(e)
C. (c)and (e) C. ()T (e)
D. (a)and (d) D. (a) W (d)

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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64. JUPAC name of the complex, 64. K, [AI(C204 )SJP@FEHIUPAC

Ks[ AI(C204), |is: TR :

A. Potassium alumino oxalate A. W@mm

B. Potassium trioxalatoaluminate (I11) B. qﬁ%ﬁmngr&mﬁaw@ﬁqvgﬁﬁzan)

C. Potassium aluminium (I11) oxalate C. qﬁ%ﬁ'ﬂﬁ@ﬁﬁaﬁ(m)ﬁw@z

D. Potassium trioxalato aluminate (V1) SRCEEE ﬁﬁ@ﬁﬁ'«:(VI)
65. Number of electrons transferred in each 65 S& KMnO, 3fferefishmer o &9 &

case when KMnOy, acts as an oxidising
agent to give
MnO,, Mn?*, Mn(OH),, MnO,*" are

MnO,, Mn®*, Mn(OH),, MnO,*~
SHTAT 8, T Tedeh TRt H fohae sorergmi

_ T TITHTT 3T &-
respectively-
A. 3,541 A. 3,541
B. 4315 B. 4,3,1,5
C. 1,3,4,5 C. 1,3,4,5
D. 54,31 D. 5,4,3,1
66. In following compounds, which one 66. f Tifirent §, I T T &iiE 1 e
contains least oxidation state of iron: ST eRToT 37eTEeT
& KalFe(Otel A KglFe(OH)e)
B. K,[FeO,] B K,[FeO,]
C. FeS04(NHy)2 S04-6H20 C. FeSO4(NH,), S0, 6H,0

D. Kg[Fe(CN)g] D. Kj[Fe(CN)g]

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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67.  The set of quantum number not possible 67. ek WA T Uk Seiag o fordl Farmven

for an electron in an atom is : AT AT e BT T} & STeeh -
A. 1
n=14=1 mzls:+5 A nzltzlmzls:+%
B. 1
n=14£=0 m=0 s=+3 B. n:1£:0m=052+%
C. 1
n=14£4=0 m=0 S:_E C. n=1£4=0 m=0 S:—%
D. 1
n=24£=0 m=0 S:+E D. n=24=0 m=0 s=+%
88 In the dichromate dianion(Cr207)2‘: 68. st oA (Cr207)2_:
A. 4 Cr— 0O bonds are equivalent A. 4Cr— O gadd
B. 6 Cr— 0O bonds are equivalent B. 6 Cr— O &add
C. All Cr— 0 bonds are equivalent C. i Cr— O 5= 9Hd
D. All Cr— O bonds are non equivalent D. @i Cr - O o7 gadeT 7t
69. o—D(+) glucose and f-D (+) glucose 69. o.—D(+) TSI T B -D (+) IS 8-
are- A. FEHY (TETH)
g. Eo_nformers B =g
. Epimers -
C. Anomers ¢
D. Enantiomers D. gf-earmet
70. when CH, = CH—COOH is reduced /0. s CH, = CH—COOH, & LiAlH, %
with, LiAIH, the compound obtained T TR EIAT &, 1 TR ST I
will be: A. CH3CH,COOH
A. CH3CH,COOH
B. CH,=CH-CH,OH
B. CH, =CH-CH,OH
C. CHz-CH,-CH,OH
D. CH3-CH,-CHO
D. CHz—CH,-CHO 32

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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71. A substance forms zwitter ion. It can 71. ue verd, fSaet 3 ST ], & U
have functional groups: SRaTcH g B &
A — —
NH,,-COOH A. —NH,,~COOH
B. —NH2,—SO3H B —NH2,—SOSH
C. BothAandB C. ATIBaHl
D. None of the above D. SRt T TS Tt
72 one mole of Co(NH;), Clg, gives 72w 1T Co(NHg ), Clg It & e
3 moles of ions on dissolution in water. 3 I ST 3T 2| Toh It SWITh Sitedt
One mole of the same complex reacts T 2 e AgNO; frora O fpm F 0
V\{Ith two moles of AgNOj3 solution to YT AgCl 34T 21 et e St da v
yield two moles of AgCI. The structure
of the complex is: A. _CO(NH3)5 CI]CI2
A. [co(NHz).cl]cl, ]
- ( )5 :| B. CO(NHs)3 C|3j|2NH3
B. CO(NH3)3 C|3:|2NH3 _
- C. [Co(NHg),Cl, |CI-NH;
C. | Co(NHg),Cl, |CI-NH; )
) D. [ Co(NH3), Cl]Cl, - NHy
D. [ Co(NH3), CI|Cl, - NHj, )
73. —_ 73. —_
Na(g) + 3Hz(g) <= 2NHs() Na(g) + 3Hz(q) <= 2NHs(g)
[AH=-93.6 kJ] [AH=-93.6 kJ]
The yield of ammonia does not increase s St Tt e St § Sefr:
when: .
o A. T TG ST 8
A. Pressure is increased '
B. Pressure is decreased B. a1 foran S €
C. Temperature is lowered C. sk ke fohart STTerT &
D. Volume of reaction vessel is D. foha um st ST a1 fehaT ST
decreased g
SPACE FOR ROUGH WORK / T @t & forar srire
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74.

75.

76.

Which pair of the following will not
show common ion effect?

A. H,S+HNO;

B. H,S+HCI

C.  NH4Cl+NH,OH
D. KCN+HCN

The binding energy of the hydrogen
nucleus is:

A. 13.6 MeV
B. 200 MeV
C. 24 MeV

D. Zero MeV

The question contains statement-1 and
statement-2 of the four choices given
after the statements, choose the one that
best describe the two statements.
Statement-1 :In strongly acidic solution,
aniline becomes more reactive towards
electrophile.

Statement-2 : The amino group being
completely protonated in strongly acidic
solution, the lone pair of electrons on
the nitrogen is no longer available for
resonance.

A. Statement-1 is false and Statement-2
is true

B. Statement-1 is true, Statement-2 is
true; Statement-2 is correct
explanation of statement -1

C. Statement-1 is true, Statement-2 is
true; Statement-2 is not a correct
explanation of Statement-1

D. Statement-1 is true; Statement-2 is
false

75.

76.

[ATToRd H ol |1 I | HTEH T
A. H,S+HNO;

B. H,S+HCI

C. NH4Cl+NH,OH

D. KCN+HCN

ETSISH TR hT SIYH 3911 8
A. 13.6 MeV
B. 200 MeV
C. 24 MeV
D. 3 MeV

36 4 H -1 TS -2 21 I o S |
AT forshe fedt 81 374 © U forered ot =
L, ST QT shoT ohT HaITTH ST LT 2|
-1 T A T |, Tl
SIRIHISS o Wil 31k framefiet &)
FU-2: AT A, el forerm 7 ol
TE MEMLE B ST 2, AT & Jufeerd
THTEhT I, SIS o fordl Iucred & &

A. FUA-1 T §; HH-2 TR R

B. woH-1 TEl 8, HAF-2 I B, heH-2;

-1 il TE AT B

C. F-1 Ul ®, HoH-2 ULl §; -2,
-1 sl & T T =l

D. F¥F-1 Tl §; FHUF-2 7Td 2

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202052-VKZ-ENT-JZK-M

29

Set - A



77.  Pair of species having identical shape 7.

for molecule is:
A. CFy, SKy

B. BF, PCl;
C. XEFz, C02
D. PF5, |F5

78.  \When mercuric iodide is added to 78.

aqueous solution of potassium iodide:
A. Freezing point is raised

B. Freezing point is depressed

C. Freezing point remains constant
D

. Freezing point may raised or
depressed

79. When the electrons of hydrogen atoms 79.

return to L shell from shell of higher
energy, the series of lines in the
spectrum are of:

A. P fund series
B. Lyman series
C. Brackett series
D. Balmer series

80.  Benzene reacts with H, at 150°C at 80.

30 atm pressure in the presence of Ni
catalyst to give-

A. Cyclohexene

B. Cyclohexane

C. n—hexane

D. No reaction occur

ERTTE o I foffeh ST ol G (VgR)
3T &:

A. CFy, SFy

B. BFRy, PClg

C. XeF, CO,

D. PR, 1K

STel AL STTATSTSS i TiefRrem
HTASTES o Sefty forera o e firetran
SIRIRKIF

A. feate =1 oM sgar 8

B. f&mieh o1 A & 70 gaT 8

C. femter 1 o few war &

D. f&wieh o1 W SIgaT & AT STETH BT §

STel BTSSISH TCATU[SAT o 3T 3= 391 oh
I Y L hIST § 1YE (HHAOT) B &
FUTshT | @137 o Sofl &:

A. ot wug guft

B. «rgH st

C. hore oot

D. STeH uft

ST 150°C TT 30 ATIHUSHAT aTel T
Ni IR i Jafeerdt & H, & foram o
3 -

A. HIgFATRRT

B. WEFIRAET

C. n-ToH

D. &1 stffra 7

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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81.

82.

83.

The reaction- 81.

QOH NaH_ Qo N
Me-I QO/Me

can be classified as-

A. Williamson ether synthesis reaction
B. Alcohol formation reaction

C. Dehydration reaction
D

. Williamson alcohol synthesis
reaction

An organic compound, containing 82.

C —39.13%, H — 2.69% and remaining
% were oxygen. Its vapour density was
found to be 46. What will be its
molecular formula?

A gty =iy
B. C3HgO
C. CgHgO
D. C,HgO,

235
92

periodic table. It loses one o -particle

U belongs to 111" B group of

and two B~ particles, the new element
belongs to the group.

A IB
B. 1A
C. B
D. A

83.

N’ﬁqﬁﬁiﬂ;
QOH w.Qo— Na
Me-I :/\ O/Me

T arfieha foRaT ST Tkl -

A, Taforrem o — dsguor sAffsma
B. 3Tcehied o st Tfifshar

C. Frsiefertor stffsrar

D. faferama steeniea Gogmor stfufsrar

T sl ek JiiTeh, fSEH, C — 39.13%,
H — 2.69%, I TSI &1 ST o159
BT 46 T TRIT| JHRT 0] GF BRTI-

A. C3HgO3
B. C3HgO
C. ity Tty

D. C7HgO,

235U STt ¥ 111 B wg & feora 2

I TH 0,V TS &1 B~ 0T Wl §, T4 e
EFTH@@T”Z

A. IB
B. TA

C. IIB
D. IITA

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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84.

85.

86.

Identify the gas which is adsorbed by
activated charcoal:

A. H,
B. N,
c. 0,
D. SO,

If ‘a’ is the initial concentration of the
reactant and ‘n’ be the order of the
reaction, then half life of the reaction
will be:

A. al—n

Consider following statements:

(a) The absolute value of internal
energy cannot be evaluated

(b) Entropy is a state function and
extensive property

(c) Temperature is an extensive
property

(d) The standard enthalpy of formation

of an element (A H¢) is always

considered to be zero
(e) For an adiabatic process AS>0
wrong statements are:

A. (a) and (b)
B. (a)and (d)
C. (c)and (e)
D. (b)and (d)

84.

85.

86.

] ST \fsha =ehict ST SRR e &

afe <a’ FAfTeRTER St T GigdT 2 Ud n’
arfrfspa it hife &t ot iR it
3T Brt:

A. _1-n

B. .n-1

C. .

D. .n#l

o=t e W fomm s

(a) TN 31 o UL [T oh TOMT T&l T
ST Gl B

(b) Tt T Tt et T fereqer 707

(c) TTIsRH T foreg T

(d) Torelt qea st JHTioTeh HeTa 3ot
(AHg) T HH [T /T ST 2

(e) TERTSH ThH o foId AS > 0 BT 2

TTeId Y &

A. (a)T (b)

B. (a)Wd (d)

C. (0T (e)

D. (b) T (d)
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87.

88.

89.

2 moles of PCls is decomposed in 87.

2 litre closed vessel. At Equilibrium the
percentage decomposition of PCls is

40%. The value of Equilibrium constant
is:

0.267
0.0267
2.67
26.7

OO0 wp

The dissociation energy of CHy is 88.

360 kcal mol~tand that of ethane is

620 kcal mol~*. The bond energy of
C-C bond is:

A. 260 kcal
B. 980 kcal
C. 90 kcal
D. 80 kcal

Which of the following structures 89.

represents neoprene polymer?
A. £ CH,—C=CH— CHy,)5
|

cl
B. (%N

—¢ CH,—CH 9y
C. ?|

— CH,—CH ),
D. +C|:H— CHyn

CeHs

2 WA PClg =i 2 fefet o sig e # ferefea
foraT 17| ErreEdT W PClg 31 Siasrd
fereret 40% 21 Ty feerties o1 A &:

A. 0267

B. 0.0267
C. 267
D

. 26.7

CH,, =1 farfrem 3o1f 360 kealmol™ &

qIT U9 S friie 31t 620 keal mol ™t
B Al C—C 3T <hl AT 3971 2

A. 260 fhar sharrt
B. 980 foratr et
C. 90 foratr Hefrdt
D. 80 fohalr shattt

Foret T et & it e srgeres
Jefiia st 2
A. { CH,—C=CH— CHy)q
S

B. cN

—CH,—CH 3
C. (|;|

—CH,—CH 9,

D. +c|:H— CHyn
CeHs
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90. This question contains statement-1 and 90.

statement-2, of the four choices given
after the statements. Choose the one that
best describes the two statements.

Statement-1: Aromatic acids do not
undergo Friedel-Crafts reaction.

Statement-2: —-COOH is m-directing
group.

A

91. How many structural isomers are 91.

Statement-1 is false, Statement-2 is
true

Statement-1 is true, Statement-2 is
true, Statement-2 is correct
explanation of statement -1

Statement-1 is true, Statement-2 is
true, Statement-2 is not a correct
explanation of statement-1

Statement-1 is true, Statement-2 is
false

possible for C4HgBr?

A.

92. The ionisation potential of which 92.

B
C.
D

2

3
4
5

element is highest?

A
B.
C.
D. F

H
He
Ar

TG T U 3 A B, FUA-1 T -2, 39
FHYAT o 7d U I forered fd TR 81 5 4,
e foened, ST 3T el h! Ta s ST
AT 7, T 3 |

FoH- 1 TWARH 317 7 ThISA-3hTe
arfsrferan T Bl

FUA-2: “COOH T8 m- FeRm[ we ;

A

B.

F-1 TAd 7; HYF-2 T=I B

Fo-1 G B; HIA-2 a7 FUT -2,
-1 il TE AT B

FHUA-1 TE ; HUA-2 T B, HUA-2,
-1 ol T AT T R

FY-1 T §; FHAA-2 T 2

C4HgBr o for fohe Tt amrerat
g 82

C.
D

2

.3
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93.  pH of a solution is 10. The number of 93. s fae@H &1 pH 10 B forera = ufar

hydrogen ions present per millilitre of frfafret & ereSieT o i T §:
solution is: )

A. 23
A. 6.023><1023 6.023x10

B. 13

C. 10

D. 7
94. Among the following which are 94. 47 % HeT S GHTA 8l 8
mismatched:
Fife kT 3HTS
Order Unit of k
1 (a) A HITE _ et forer L

(@) Zeroorder - mol L time™

-1
(b) Firstorder - mol L1 (b)JIH e - At fetex

(c) Second order - L mol~* time ™! (c)f?aﬁaaﬁﬁ-%anﬁa_lm_l
(d) Third order - L2 mol L time™? @ - fore’ e e
© n"order - molf " L"Ltime (" Ff - et " e et
A. (a)and (c) A. (2)T(c)

B. (b)and (d) B. (b)Td(d)

C. (@and (e) C. (W (e)

D. (c)and (e) D. (c)Td (e)
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95. Which one of the following will act as

the best protective colloid?
A. Gelatin

B. Starch

C. Gum arabic

D. Egg albumin

%0 Ny + BHarg) == 2NHs(
Then AH is equal to:
A. AU+2RT
B. AU-2RT
C. AU+RT
D. AU-RT

97.  Match List | with List Il and select the

correct answer using following codes:
Substance
(@) Crystals of Tartaric acid

(b) Fey0g3
(c) Rochelle salt
(d) KHyPOy4
() Fe304
Properties
(1) Ferrimagnetism
(2) Ferroelectricity
(3) Piezoelectricity
(4) Antiferromagnetism
(5) Pyroelectricity
A. (a)-1, (b)-2, (c)-3, (d)-4, (e)-5
B. (a)-5, (b)-4, (c)-3, (d)-2, (e)-1
C. (a)-4, (b)-5, (c)-1, (d)-2, (e)-3
D. (a)-3, (b)-2, (c)-5, (d)-4, (e)-1

07 T 9 9 Tk Haian &l s & '
T T LT 87

A
B
C.
D

ISRIES]

. W

BRI EED
T-Tes i

—
Nag) + 3Hzg) =— 2NHgg)

T AH =19 7o &:

A

B
C.
D

AU+2RT

. AU-2RT

AU+RT

. AU-RT

Feit-1 o1 GEft-11 & gHferd o e i &
HEAT | TE AL I hifor:

(a)
(b)
(c)
(d)
(e)

(1)
)
)
4)
)
A.
B.
C.
D

et
IRk 3T o Torkeet
Fe 04

T a0

KH,PO,

Fe304

Al

R IEE T

(@)-1, (b)-2, (c)-3, (d)-4, (e)-5
(@)-5, (b)-4, (c)-3, (d)-2, (e)-1
(8)-4, (b)-5, (¢)-1, (d)-2, (e)-3
(8)-3, (b)-2, (c)-5, (d)-4, (e)-1
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98. 98. .

The factor 201 represents: ATt e wafite e &
Kt Kt
A. Molarity A. T
B. Molality B. Hicordl
C. Normality C arder
D. Formality '
D. ®Hedr
99. In the reaction- 99. zgsrfufrard
NH, NH,
@ NaNO,/HCI D CuCN/KCN | E+N, NaNOF/HCI,  CUCNIKCN |,
0-5°C 0-5°C = =
CHs CHa
The product E is- 3UTE - E -
A. COOH A COOH
CHs CHj
B. B
C CN C. CN
CHs CH,
D CH3 D CH3
SPACE FOR ROUGH WORK / T &1 & forar wrire
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100. The process of converting hydrated
alumina Al(OH),into anhydrous

alumina is called-

A

Roasting

B. Smelting
C.
D. Calcination

Dressing

100. " srefrar weafirm Al(OH) it fstefia
TfET H e st TR B e 8-

A. ST

B. Wi

C. %S
D. fr=am=

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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101.

102.

103.

PART - 111

Mathematics

The angle of elevation of the top of a
tower at any point on the ground is
30° and that at a point 10 meter nearer
to tower from earlier is 60°. Then the
height of the tower is-

A. 15 meter
B. 10 meter

C. 5\/5 meter

D. None of these

If [-] denotes the greatest integer
function, then

Jo [ Jex-
A 2.2
2-2
1+\/§

None of the above

O 0 W

Argument of the difference of two
complex numbers 3+4i and —3—4iis-

A =

2
B. tan_1ﬂ
3
c tan_1§
4
D. None of these

101.

102.

103.

T

T o FoReT foreg Tt ueh e o Fweia foreg
T =TI HI0T 30° 2 qAT 10 HeX T At
Wqﬁzﬁmﬁﬁir_gﬂ 1o o JoaIdH &vg
T 60° B e e shl HTS ©-

A. 15T

B. 10X

C. 53 tex
D. T4 9 IS Al

At [] wEw quiter e qunidr & al

Jo [ Jex-
A 242
2-2

1+\/§
SURIE | U g el

O 0 ®

31 gfrgey gatsTl 3+ 4i 991 —3—4ih

3T=aIC ST IV B-

A. T

2

B. tan‘lﬂ
3

C. 3

tan -12
4

D. 0 & &HIS Tl
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104. Length of perpendicular from the point 104. X_2 yv_3 7-4
ot of perpeniular from the pont e
(1, 2, 3) to the line - —

o > 0 (1,2, 3) 8 STl TR el o TS &
A Te A. @HH
77 :
B & B oo
c. 6 c M
77
D. None of these D. &S el
105. Barcode Reader isa/ an --------- device. 105. STehIE TeT T -------- YT &
A. Output A. =YL
B. Input B. I
C. Display Cc. feoawr
D. Storage D =i

106- The function -—:{;—é. in the 106 cer é =, (0, 1) |

interval (0,1) is
A. Monotonic decreasing

B. Monotonic increasing
C. Neither decreasing nor increasing C. 7 fe e & i 7 fe gremm 2

D. None of the above D. 3WIh § ¥ IS el
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oo CH

107. 107. CHs
e R S o, >

are any two vectors then the unit vector . he L
i FEAarma, aw ) ¥ wwmm w
parallel to Hﬁ‘c is- g E.
A. CHs A. CHs
B. j+4j-12k B. _ CHa
V161 Q
C. i-2j+13k C. oHa
\/174 H3c/®
D_ CH3
108. For the following linear differential 108. fyeferfad YRash taeher aHieRor & for2r
equation, tge integrating factor will be: ngﬁm
y 3 d
X(X +1)d —y(l X )+X logx x(x2 +1)%:y(1—x2)+x3 log x
. [XZ +1j A [xz +1J
X
X
B. x2-1 B. «2_1
X2 2
C. x?41 C. w2411
x? -1 x2 _1
D. None of the above D. I & Fs Tar
109. The parametric representation 109. grerferes reaor y = 4t 41, x =4+ 12
y=4t+1, X =4+t represents el s g-
A. aparabola with focus at (1, 4) A. U e R 1 (1, 4) §
B. an ellipse with centre at (4, 1) B. @ﬂﬁaﬁﬁ'ﬂ%‘r%ﬁs{ 4, 12
C. aparabola with vertex (4, 1) C. e e R ¥ (4, 1) 2
D. None of these D. sRaRE
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110. |If 110. zfa

2
. 1 2X —11-x
sin —2c0s + CH—~C=CH— CH
1+ x2 1+ x2 —(_ 2 | ﬁﬁ
2tan~? 2X2 =E, C|
1-x- 2
then x = dd x =
A0 A 0
B. 1 B.
C n C.
4 I
D. n
E D. ‘J
i
111. A line with direction ratios & " is 111. fomp syqomdt <2< ATl T L e
drawn to intersect the lines .x+3 y-3 z-6
— CH,—C=CH— CH,)y W%Sﬁi’@ﬁ}ﬁ = 2 = 4
<|3' and 5 7 2
on qor 22 YT LU 2TE mygfrfea
I . Then the length -1
—€ CH>—CH 5y, sm“r%masagﬁ%ﬁamaﬁrmé%
intercepted on it is-
A. 78
A. 78
Y 4CH—CHY;
C 38 C. 38
' D. 39 & i Tal
D. None of these FHH A
112. |f a=5,b=3, c=2in AABC, then 112. gfe AABCH a=5b=3c=2,d9
AABC is a- AABC -
A. right angled triangle A. @RI Bt
B. equilateral triangle B. Wﬁ‘ﬂﬁ
C. acute angled triangle C. =0 By
D. None of these D. T &g TEt
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113. 113.

= A A A - A A A
If the forces F = 2i—4j+4k and e Tk T O At 9 Ry = 2i — 4]+ 4k

—> R A ~ = A A A
F, = 2i —3j—6k acting together qoT F, = 2i —3]— 6k T 0T T
displace a particle from P(4, —2, —6) to P(4, -2, —6) 1}1%!73’ Q(0,-2,2) ®
the point Q(10, -2, 2), then the work fereenfua sd €, e 3ok g foham e
done by the forces is- 2-
A. 8units A ST
B. Ounits B. 03FE
C. 4units
C. 43&TE
D. None of these . .
D. 9 @ ig Tal
114. Which of the following device is used 114. aftir o fore o o @ forr Teamse o1 sw=mr
for gaming? foparm Stra €2
A. Mic A. HTSH
B. Mouse B. AT
C. Joystick Cc FfE
D. Light Pen D. ez
115. Solution of differential equation 115, S{Iehet GHIRIT

dy  x-y(.x .y d
L =X Y(eX-e Y _ Xy (X _gY
dx ( ) dx ~° (e ° )
is: 1 & B
A. X X

e/ =" —xe” e A VX _ e _ye® ic
B X X X

e¥e® =eXe® —e* +c B v _ox e e 40
C. _ X 5 X

Y =e® +x%e® +c¢ C. Y et 126 o
D. None of the above D. 3w & & s T
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116. Out of (2n + 1) tickets numbered from 116. @Qn+ )feFRida AW 1820+ 1 dF

1to 2n + 1, three are drawn at random. shieh ford TR 2, i feshie argssan (et
The probgblllty that t_he numberg, on I T TR ST 3 e e i o
them are in Arithmetic progression will ) .
be: e FHHET=AL Sofl § =/, |-
A. 3n A. 3n

5n2 -1 5n2 -1
B. 3n B. 3n

4n®-1 4n% -1
C. n C. n

4n? +1 4n? +1
D. None of the above D. STk H ¥ HIE Tal

117. A 28 Meter long wire is broken into two 117. 28 wHiet T AR o &1 Zohe ek T i ol

pieces. One piece is folded as square T <BX ! o o &9 § 71T ST &1 2
and another as circle. The lengths of two ﬁ" - St gt
pieces will be, when the combined area ST ﬁ ) B, ST Sy ot
made by both figures will be minimum: STpfcralt <hr §h & 2T .
A. 112 28xn A. 112 28xn

4+ b+ d+m’ A+m
B. 124 26=n B. 124 26xn

8+m 8+m 8+n 8+m
C. 224 14rn C. 224 14rn

6+1 6+ 6+n 6+7
D. None of the above D. STk H U HIE Tal

118. If the ellipse x2 +9y? =9 meets the 118. afe g x% +9y? =9 e
ellipse b?x? +y?> =b%, b>1inn b?x? +y% =b%, b>1, ¥ nfogefim
points, then n = fraT®, @@ n=
A 0 A 0
B. 2 B. 2
C. 4
C. 4
D. 9
D. 9
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119. Which of the following natural element 119. Frfetfiae @ & i |1 STehfdeh del et

is the primary element in computer e 7 yrerfires 9 82
chips? .
A. Silicon A. Rt
B. Carbon B. M
C. Iron C. omr
D. Uranium D. IfEg
120. What is the name of programs that 120. sheare fereew s FrRIfS sFeaTet ST
control the computer system? I T2
:. Ear(i)warz A e
. Keyboar
C. Software B.
D. Mouse C. HRIHR
D. "™
121 \when x3% 11 is divided by X3 +1, 121 4 %300 41 3y x3 11 gy sy e s,
then remainder is- CERIEES RS
A 2 N
B. -2
C. 3 B. -2
D. None of these C.3 . '
D. U1 It
122. The maximum value of the function 122. 1)
1\ Wf(x):(—j T IeeIqH | BT
X
f(x):(—j IS
X A. et
A. Q€ B e
> H (e]
¢ c. 1
c. 1 et
ee D. STk H ¥ IS T

D. None of the above
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123. The order and degree of following 123. freferfad staehet geteRtor it hidt ud =T

differential equation is: gt
1/4 1/4
d%y A d?y dy°
dx dx dx dx
A. Order 2 and degree 6 A. &I 2 TE I 6
B. Order 1 and degree 6 B. &Il 1 T oA 6
C. Order 2 and degree 4 C. HII2 W& Hd 4
D. None of the above D. SHIG T A FIE T

124. The sum of all 2-digited numbers which 124. 39 =y Sient areft @it wearsTy o1 9 i

leave remainder 3 when divided by 5 is- 59 9IT 24 9T IS 3 =T &, B-
A. 171 A. 171
B. 99 B. 99
C. 999 C. 999
D. 111 D. 111
125. The area bounded by curves 125. a3t y =|loge | x || T y =0 & ferrgan
y =|loge|x|| and y=0 is: SA%e BT
A. 2 sq. units A. 2T 3HE
B. 45sq. units B. 4 gHhTs
C. 850. units C. 8o ghrg
D. None of the above D. 39UHH & TS 7
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126. e - - 126. e - >
=C

If BC=a,CA=band AB=c are afe BC=a, CA=b @1 AB
three sides of a triangle with Bt Y i syoid @ et

Ueh

- - -
|a|=a,|b|=band]|c|=c,then - - -
|a|=a,|b|=bd4r|c|=c,dd

a?+b?—c® _ 2 12 2
2ab as+b”-c” _
2ab
A. cos A
A. cosA
B. cosB
B. cosB
C. sinC _
C. sinC
D. cosC
D. cosC
127. If position vectors of A and B are 127, afs A 7o B % Rurfyafder 2i — j+ k @

2i—j+k and i+ j—k, then the position P+jok %,aaw%Tq'QPairﬁABaﬁ3:4

vector of point P dividing AB in the

. . T offear & Rufa afewr § .-
ratio 3:4 is :-
A §_gj+k A i-9j+k
7 7
B. 9?+]—I2 B. 9i+j-k
7 7
C. gi-j+k C. 9i-j+k
7 7
D. None of these D. 3 | i el
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128. The slope of the tangent at (X, y) to a 128. o R [1§j Faps 2 T e

(X, y) T TSt @ St Jaordr %—cosz [Xj

X

ECUCIRS IR RS CE AR S Cv I

curve passing through (1%) is given

by Y _cos? (Xj , then the equation of
X X

the curve is :

A A y—xtan_l(log(éJ
' y:xtan_l(log(gj e
B.
B. _1( e y=xtan_1(log[EJ
y =Xtan Iog(—) X
X
C.
2., -1 €
C. =Xx“tan | log| —
y:xztan_l(logLE j Y ( g(x J
X .
D. SWhH H IS ol
D. None of the above
129. The area of the region in 1% quadrant 129. . X
bounded by the y-axis, ST TG H y S, y:z,y:1+\/;
y=2y=1+Jx and y=—= is: ot y - 2 & ot o = e T
4 Jx JIX '
A. .
%sq. units A §aﬁgq;|—§
3
B .
%sq. units B Eaﬁsan‘rs‘
3
C. 2 . C. 2
= s(. units d
3 S 3 EUEEDH
D. None of the above D. 39U%h § ¥ IS 2
130. X 130. X
x—=0|x|+x x—0 x|+ x
A 1 A 1
B. -1 B. -1
C. does not exists C. R @2
D. None of the above D. 39U%h § ¥ IS =t
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131.

132.

133.

If A+B:%n,where A, B eR*, then

the maximum value of sin A+sinB is-

------- erases letters to the left of the
cursor.

A. Backspace
B. Delete
C. Both

D. None of these

If a line makes angles a, B, vy, 8 with

four diagonals of a cube, then

sin? o, +sin? B+sin2 y+sin2 o=

A

O
olw DplwWw WO Wb~

131.

132.

133.

zr%A+B=2—;,a%T A, BeR",dd

sin A+sin B kT SAfehds 719 2-
A.
B.

Conle: & S

________ UL o ST 3T o & i firer 2ar
2l

A. SHEY
B. feciie
C. aFl
D. 3T & &1 off Tt

TS T LT To B o = [eIehuTt o6 &1l
T L, B, v, & ST ], q

sin? o, +sin? [35+sin2 y+sin2 o=

A

Olw MW Wl w|h

202052-VKZ-ENT-JZK-M
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134.
then

If A+B+C=g,
tan6A +tan6B+tan 6C =
A. cot6A-cot6B-cot6C
B. 0

C. 1

D. tan6A-tan6B-tan6C
135. The function

x-3
x-3"'
0, Xx=3

X#=3

f(x) =

Discontinuous at X =
Continuous at x = -2

Continuous at x =3

o0 @ »

None of the above

136. Ix_11(1+ xH V2 dx =

5/2
(1+ x_4)

—2

_ 3/2
A. 71——2(1+x_4) +(1+X_4) +C

5

5/2
(l+ x4)

— 3/2
B. - ——z(l+x4) +(l+x4)
2 3

5

5/2
(1+ x4)

5

@]
N

D None of the above

3/2
+§(1+x4) +(1+x4)

+C

+C

134.

135.

136.

?T%A+B+C=%,ﬂa
tan6A +tan6B+tan 6C =
A. cot6A-cot6B-cot6C
B. 0

C. 1

D. tan6A-tan6B-tan6C

Bold

x|
x=3"'
0, X=3

f(x) = X#3

X = —2 T 3T¥qd 2
= 2 T Hqd 2

X = 3 W Tdd 2|

ST | & HIE T

oS o w >

11(1+x ) Y2 dx =

5/2
1+x

_— -= 1+x
2

3/2
—-— 1+x4) +(1+x4) +C

3/2
(1+x4) +(1+x4) +C
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137. 5 16 (7 137. 5 16 |7 5
IfD=||6 (7 |8] then I D=6 |7 @,W2(5)3—2
718 9 ol el B
5 —2is- &
2(5) N —
A. amultiple of 5 B. 6 =T U T[T
B. amultiple of 6 c o
C. 0
D. 5
D. -5
138. Differential coefficient of 138. 1 2x ,
ox tan 5 | T TR TUTh
tan‘l( ) with respect to 1-Xx
2
1-x 1—x2
12 cos* > | 3 W &
cos™? 5 | is: 1+x
1+x
A 0
A. 0
B. -1
B. -1
Cc. 1 .1
D. None of the above D. TR H & i T
139. If aline is drawn through a fixed point 139. e weh frd forg P (3, 4) 9 ok T@r =t
P(3, 4) to cut the circle 2 2 3
2x2 +2y? —3z=0 at A and B, then T & T 2 129" -3 =0
’ A TIT B WHRA 7, a9 PA-PB =
PA-PB =
A 16 A. 16
B. 9 B. 9
C. 41 C. 41
D. 25 D. 25
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140.

141.

142.

If {1, My, Ng and (y, My, Ny are

direction cosines of two concurrent
lines, then the direction ratios of the
lines bisecting the angle between them
are:

ﬁli mp , fzi ms , fgi ms
mlinl, mzinz, m3in3

fli ﬂz , mlimz , nlinz

o0 ® »

61 fz, mims, NNy

|fj

aLn|x|+ btn‘x +l‘+c
then

x(1+x )

A a=1land b=—

B. a=land b=

\|||\> \‘|r\3

< a=-1and b=_72

D. None of the above

The curve y= Vx? -4 is defined in the

interval [2, 4]. Find the coordinates of
point P, such that the tangent at point
P is parallel to the chord joining two
points of the curve:

A (2.48)
(426
(6.2)

D. None of the above

140.

141.

142.

q-%fl, my, nlaQTﬂz,mz,nzam
@i il faeh HisaTd &, T 379 o=
SHIOT T HETgTSTeR Tl sh ok hisaTd 2-
A. fliml,fzim2,€3im3

B. my+n;, my+ny, mgtng
C. (4l ,m£my, N tny
D

fl ﬁz, mmy, NN,

7
Zﬁlq"[ dx =
x(1+x )
aLn|x|+b£n‘x +]4+c
ar
A a= 13ﬁIb——2
Z
B. a=13 b—g
7
Caz 13 b=_7
D. SYUH | ¥ TS et

qH y =\ X° — 4, A [2, 4] |

ot 21 foreg P o fdwries 3ma i fof
P o =it 175 Tavt T, =5k o & forgatt
fireTaTet SfiaT & TR 2

A (f2.4)
B (4,243)

D. Sk § & IS &
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143.

144,

145.

146.

If i—j, j—k, k—i and i+j+k arethe
vertices of a tetrahedron, then its
volume is-

A 1

6
6
1

oW

None of these

The area of a triangle is 10m?. If its

two vertices are (0, 0), (5, 0) and the
third vertex lie on the line x =5, then
the third vertex is-

A. (4,5)
B. (5 4)
C. (0,4)
D. (5,5)

The slope of a curve, passing through
(3, 4) at any point is reciprocal of twice
the ordinate of that point. Then the
curve is :

A. Parabola

B. Hyperbola
C. Ellipse
D. None of these

The three points
@ 2, 3),(-2, 3,5) and (7, 0, -1)

A. are collinear

B. form aright angled triangle

C. form an equilateral triangle

D. are equidistant from each other

143.

144,

145.

146.

e i-j, j-k, k-1 @mi+j+k T
IqhETeh o YT &, el FHRT ST ¢-
A1

6
B. 6
C. 1

D. 378 ¥ s Tl

T oyt 1 et 10 #1281 e saen &t
3 (0, 0) , (5, 0) & AT e 3y T
x = 5 T feorq B, e ey 3fis 2-

A. (4,5)
B. (5, 4)
C. (0, 4)
D. (5,5)
1ok o forelt foreg T SravralT, Sk it o

I o SYcShHTTC 81 Tk (3, 4) ¥ oAt §
T 9 =gk BI:

A. TET

B. JAfdwac™

C. dqa

b. sraTET

i fog (1, 2, 3),(-2, 3, 5) @
(7,0, 1)

A. THTEH

B. T GHHITT BIS ST &

C. U GuaTg Bivs or &

D. U3 § EAE g W

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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147.

148.

149.

The product of perpendiculars drawn

from any point on 4x? —9y2 =144
upon its asymptotes is-

A 8
B. 36
C. 16

D. 52

If f(x)=sin|x|+cos|x],

nl2
then _R/Zf(x) dx =

D. None of the above

In the expansion of (2+3x —4x%)2034

the sum of all coefficients is-
A. 2034

B. —2034

C. 1

D. 1

147.

148.

149.

4x2 —9y? =144 T F foreht fag & 5w
AT TR O S T il ol TS
5

A 8

B. 36

afe f(x) =sin|x|+cos|x|,

@ ji’jzf(x)dh

D. 3R U HIE TaT

(2+3x — 4x3)?934 3 w7 afi Turient
T AT B-

A. 2034

B. —2034

C. 1

D. -1

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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150. A bag contains 5 balls and of these it is 150. wsh AT H 5 7iQ & A T guerr @ foh sun

equally likely that 0, 1, 2, 3, 4, 5 are 0, 1,2, 3, 4, 5 9%a 1S 8| Teh 71 Fehrett
Wwhite The chance that 115 the only et o e A
white ball, will be: fef 7 wehaTt Whe 71 7, B
A 1 A 1
12 12
B. 1 B. 1
6 6
C. 1 C. 1
15 15
D. None of the above D. STk H ¥ HIE Tal

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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SET-A

3T ifehd T T 99T 3Ee rfereRad 3 : 150
Time for making answers : 3 Hours Maximum Marks : 150
qNe:

1. 39 ef qfeaenRt § wi o -
T AT - Tk e 50 T,
TEeiter 9T - TETE e 50 9,
Ferar T - TTfUTE 50 W R
Tk T 1 31k T 8 | At T97 56 BT AT 2 |
2. g % I, €1 T OMR 3Ufte (errersiie) W sifera i |
3. HUTCH, odieh T8l fhaT AT
4. Tordlt oft T8 o FeTHeIed a1 A e U HITSel Wi ol T I & |
5. OMR 3TN (ATETT) T THRT i THIT THT T AT T Thi/ald e 98 e T a1
U e AT faerae onfe ug W R wereaey 98 T B 9 |
Note :

1. This Questions Booklet contains Three Parts -

First Part - PHYSICS has 50 questions,

Second Part - CHEMSITRY has 50 questions,

Third Part - Mathematics has 50 questions.

Each question carries 1 mark. All questions are compulsory

Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

ok~ N

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds and wrinkles.
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